4/ 1 D SHERRANEGLUFUE

\ /

\y/ B 0BFHEE. NREFCRETDREI FNWESN. EX22F4818
.ei:” KO, 1 BOEFHE[EA (8- 15 [7TEE45D ] ICRIESN. IRIFBD
L J BIRNWDZEDDF U2, ERWERZERMNSBUEULET,
(BEOBEDHHFH]

< 1 HOE SRR 7 KFfE4545y  (IH @ 8 IREfH) NG B AR 7 L 2 A LARE b IR,
- 1E OB 38KER45%  (IH : 40WF[H)

(R ER R ]
- 4by (HATERY), L. 1 H OB 7 K455 2B X D %613 1 K,
(B : 8SEfHZ A 5%

GEKR B DIRE]
- R BIZEEEMT 25 08EOEIREY AR OREAIX, 1 H XL 4 K,
(IH: 1 BXIEHH),
< 1 H ORI 7 B RI455012 72 % 2 L ITHEW, BIKEIC T2 2 [H 0 4 B o i 2 & bY
CT1HOBKHICEEZD Z g caplhFE L,
XLEH AR OEE+ HEH 4RO+ 1 HOBEKRE (7 KEfE4557)
< IR O IT 4 R O BB R OFIR 0 A H 21T o e HE OB ~O@mANZ >N TE, &
B0 EHA, (H4. 3. 5 HFHFF 10945 AL D)

(REFEDREICRIBHEICES T IEHFORKR] G [FHiERGL))
- BEHANL CTHUS L= x HICHE T 256, THM4GDEZ b T1HELET,
KEHEREGIT, BEL/1H12/31F TORIC 3 BEG T, BUSHEMITFEKREFR LTI,

(FAEiR1TRE]
cHERXIE~DOEHALEZR A 12 T5 AL, (H: 3HLL)

[(RRICEET 2 FERAKERE]
cIRESRETEDHEE X T4 (IH: 2HUHNDOH D)
THEENRET A X 40282200 (H: 2B%@B25H0)

(HER~ADHIERE]
CHEE~NRHASEOX, TREOEAHIE L5 B EICh7 A HEE
KOFTEBED 7 B Eizbi= 2 g, (IH: 3HUE)




(ERAKIRE . FeAlARRDE IR E H E KR -

« THRASHALY 1,

- WP HLAL CTHUG L RIRIRE 2 BICE T 558,

=
ARS

KR - FOFEENRE]

[T H, FAXII1IRHE] CT, BEDLHY FHA,
1 HOEGEIEEN [y HALE 705 Z LIV, FRIRIBOKREEIZS (4] BAETETHR,
BRHEOTRCEHEATIHBEICRY ., (4] oSy bEHTE £,

745 b o C1RAE LET,
1 [B]D F OIREARE [ 2 13 S A TZ R O BB R O 7505 1 BERIDIN

P HEBEM TG TE 2003,
T, WRERFFFIR OV N — G OBBRHO T T2 8E L WEE T, (R 2 85
R OB IEHBIEE N T D HEIIE, 4 ETER YRR E L TR E3, REIK
FEP IR 2 LA LA R TR TRE L 0 25813, BIFHIRITERL T 2%, HHIC

L DWAFERA I T,

(FRIAREDERATIE]

EEs e ORI TRERIRIRE ] OB ER S E L7223, 22 31250 THE 147
EMELTEOEEMMUES, _FRAEC-FEE) i3 () SRR L), Hhd %
THMm, SMEHES TBBHOLET, BTARLZBRICHEELET,

i A fl G OEEEN ) (EHUAET OEBEIY )
8:00~13:00 7% 8:00~12:00 #HED (4 Ff)
SN E| V) | LA 13:00~13:30 {KEH 12:00~12:45 {KEHL  (45%7)
%g%géﬁﬁ 13:30~15:45 %ﬁ 12:45~16:30 #h¥%Q (3 FFff4557)
oy TR 15:45~16:00 AR o < .
<TEEW, 16:00~16:30 #h75 ® @%ﬁ%{i%ﬁﬁww
fZoMiIYE, EEE
8 %H ANER B % =
- B fid A B
i 451 45 50 W Hpb|  1p| 390
iy TREas " e 45 1H
___________________________ - A H e ET| B 4y
(5l 2) BEREERT 47 7H  8F00/HH H @}'
e 215 18%7 45512
KTHS A A 13005 %T| 5N 455 &éij§;n£
3 = Z 1R N !
(I3 BRI 1BE | 45210 130530575 A 370 D e 5 B
R DM | 7R o
__________________ BBBE A B 1585455 %< 3TN 30% B LI
(4] REARERE % 51250 148515505 H /53;/5 RE eI IR F B N D :53155}
S &3 £ BB 154 — 154 e
lié;g%e. i 16%30%1@(3@%5 Ay F%“Zﬁ?ﬂ5n 15%) ®#<
6H10H 10830575 A 3ZFE REEMANS TN ;1*;330,}
2 IEfH g, 452
_______________________________ B R 14m005%EC| 3w | 3o |- R LT RN :Jz&m
5] E4 D8) 50  # 4e| 05H|36.5H
w ]§i2%¢ - 2 15 8 1H |Fik
ﬁtq{;i%A A H B ET| B 304y
" i@8a 58 (2455 n|l 36n
HKOEKTE, 4 6 5[] 81 1H
QAT H ., H A/ 163800 ET| 4w/ 154
EL5THEN
BHTh e PN TR S Uy
ez L2 TR




